Modalni slovesa

1. Must and can't

= vyjadreni domnénky, kterou vyvozujeme z urcitych faktli, nejedna se o vyjadreni faktu,
must — urcité ano, can’t — urcité ne

v kontextu tohoto uciva jsou musta can'tvyrazy opacného vyznamu.

1. Pritomny Cas prosty:
« He can't ski every day. — UrcCité nelyZuje kazdy den. / protoze to zjevné neumi/
« He must ski every day. — Urcité lyzuje kazdy den. / protoze lyZzuje dokonale./

2. Pritomny Cas pribéhovy:
+ They can't be singing now. — Ur¢ité ted’ nezpivaji. /protoze nic neslysim/
« They must be singing now. — Urcité ted' zpivaji. / protoze néco slySim/

3. Minuly Cas prosty:

« He can't have been ill then. — Tehdy urcité nebyl nemocny. / protoze jsem ho
vidél béhat v parku/

« He must have been ill then. — Tehdy urcité byl nemocny. / kdyZz jsem ho tehdy
vidél, vypadal hrozné bledé./

4. Minuly Cas prdbéhovy:

« He can’t have been going to the theatre when I met him. — Urcité neSel do
divadla, kdyz jsem ho potkal. /mél na sobé sportovni Ubor/

+ He must have been going to a gym when I met him. — Urcité pravé Sel do
télocvicny, kdyZ jsem ho potkal. / mél na sobé sportovni Ubor a v ruce sportovni
tasku./

Story:
« George is outside his friends' house. He has rung the bell three times but nobody has
answered. He thinks: ,They must have gone out.™ - Urcité sli ven.
Other examples:

» The phone rang but I didn't hear it. I must have been asleep.

« I've lost one of my gloves /rukavice/. I must have dropped it somewhere.

« Jane walked past me without speaking. She can't have seen me.

e Tom walked straight into a wall. He can’t have been looking where he was

going.

2. Obdobné: may/ might
= mozna, oba vyrazy maji stejny/téméf stejny vyznam, znovu se jedna o vyjadreni
domnénky:

1. Pfitomny Cas prosty:
« He may/might be in his office. — MoZna je ve své kancelafi.

2. Pritomny ¢as priibéhovy:
« He may/might be having lunch now. —Mozna ted’ obédva.

3. Minuly ¢as prosty:




« I cannot find my bag anywhere. You might have left it in the shop. — Mozna jsi ji
nechal v obchodé.

« I was surprised that Sarah wasn't at the meeting. She might not have known
about it - MoZna o tom nevédéla.

4. Minuly Cas pribéhovy:
« I wonder why Kay didn't answer the phone. She may have been sleeping. —
Mozna spala.
« I wonder why Colin was in such a bad mood yesterday. He may not have been
feeling well. — Mozna se necitil dobre.

Nékdy ma vyraz couldtento stejny vyznam, tzn.: mozna.
« The phone is ringing. It could be Tim. — Mohl by to byt Tim.
» You could have left it in the shop. — Mohl jsi to nechat v obchodé. /mozna jsi to
nechal v obchodé./

3. Should x Shouldn’t
=111 pozor, zde se nejedna o domnénku, nybrz o fakt, ktery je nam znam, ale vyjadfujeme
litost Ci rozhorceni, protoze se domnivame, Ze se tak nemélo stat, popr. ze se tak nema dit

1. Pfitomny prosty:
* The government should do sth to help young families with small children. -
VlIada by méla délat néco, aby pomohla mladym rodindm s malymi détmi. / a nedéla/
« You shouldn't believe everything that you read in the newspapers. — Nemél
bys vérit vSéemu, co ¢teS v novinach. / a véris/

2.Pritomny prdbeéhovy:
* You should be working now. - Mél bys ted pracovat. / a nepracujes/
« You shouldn’t be working now. — Ted’ bys nemél pracovat. / a pracujes./

3. Minuly prosty:
+ You should have come on time. — Mél jsi prijit v€as. / a priSel jsi pozdé/
« You shouldn’t have told him about it. — Nemél jsi mu o tom rikat. / a fekl jsi mu
to/

4.Minuly prlbéhovy:
+ She should have been working on it from Monday to Wednesday last week.
— Minuly tyden od pondéli do stfredy na tom méla pracovat. / a nepracovala/
+ She shouldn’t have been listening to our conversation. It was private. —
Neméla poslouchat nas rozhovor. Byl soukromy. / a poslouchala/




